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2a) Indianapolis to Milwaukee
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π
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Chicago
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63250

58500

50000

35000

Men

78000

63500

55500

48500

Wmn

IllSt

WashStr

CtrSqr

CedarRd

Store

5850042250

6550050000

5250032000

25500

Boy

-

Girl

2b) Chicago to Indianapolis

Chicago’ =↓1 (Chicago)
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Chicago’’ = σa1<> ‘Store'(Chicago’)

Chicago‘‘

AvgSales
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AvgSalesa1Chicago’’’ = ∆ (Chicago’’)

Chicago‘‘‘

AvgSales

65500

65500

65500

65500

58500

58500

58500

58500

52500

52500

52500

52500

-

-

-

-

Girl

65500500006325078000IllStGirlAvgSales

50000500006325078000IllStBoyAvgSales

63250500006325078000IllStMenAvgSales

78000500006325078000IllStWmnAvgSales

58500422505850063500WashStrGirlAvgSales

42250422505850063500WashStrBoyAvgSales

58500422505850063500WashStrMenAvgSales

63500422505850063500WashStrWmnAvgSales

52500320005000055500CtrSqrGirlAvgSales

32000320005000055500CtrSqrBoyAvgSales

50000320005000055500CtrSqrMenAvgSales

55500320005000055500CtrSqrWmnAvgSales

-255003500048500CedarRdGirlAvgSales

AvgSales

AvgSales

AvgSales

r1

Boy

Men

Wmn

a1

35000

35000

35000

Men

48500

48500

48500

Wmn

CedarRd

CedarRd

CedarRd

Store

3500025500

2550025500

4850025500

Boy AvgSales



Middleware for Heterogeneous and Distributed Information Systems 6

Chicago2Indy = πStore, Dept, AvgSales (ρa1�Dept(Chicago’’’))
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Milw

LincAveSales
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2c) Milwaukee to Indianapolis
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Milw’’ = Σ (Milw’)

Milw‘‘
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Milw2Indy = πStore, Dept, AvgSales(ρε�Sales (ρr1->Store(Indy’’)))
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